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gsl=1|X1—Xo Y1—VYo Z1—Zo|=|vll[0]—xm v1l[1]— v1l[2] — zm
X2 =Xo Y2—Yo Z2—Zp v1ir[0] —xm v1r[1] - y v1r[2] — zm
X4 —Xo Va—VYo Zs—Zg v2l[0] —=xm Vv2I[1] —ym v2][2] —zm
gs2=1|X1 —Xo Y1—VYo Z1—Zo|=|vll[0]—xm vI1I[1]— v1l[2] —zm
X2 =Xo Y2—Yo Z2—Zp vir[0] —xm v1r[1] — ym v1r[2] —zm
X3 —Xg V3—VYo Z3—Zo v2l[0] —=xm v2l[1] —ym —zm
gs3=1|X1—Xo Y1~ Yo Z1 —Zo|=|v1l[0]—xm VI1I[1]—ym v1I[2] —zm
X2 = X0 Y2—Yo 22772 vir[0] —xm vir[l]]—ym v1r[2]—zm

gs2 * v2I[0] — gs3 = v2I[0] gs2 * v2I[1] — gs3 = v2I[1] —gs3 x v21[2]
u[l] = uf2] = —————

0] =

ulo] gsl ’ gsl ’ gs1
Xp— X1 Y2—V1 Zp—7 v1ir[0] —v11[0] wvi1r[1]—v1I[1] v1r[2]—Vv1][2Z]

gtl =|X3—Xo Y3—VYo Z3—Zo|[=| v2I[0] —xm v2l[1] —ym —zm
Xeg X0 Ya—Yo Z4— 2o v2I[0] — xm v2][1] —ym v2I[2] —zm
X —Xg Y2—Yo Z3—7Z vir[0] —xm vir[1l]]—ym v1r[2] —zm

gt2 =|X3—Xo ¥3—VYo Z3—Zo|=|v2][0]—xm v2I[1] —ym —zm
X4 —Xo Y4a—Yo Za—7Zp v2l[0] =xm Vv2][1] —ym v2][2] —zm

X1 —Xg V1—Yo Z1—Zg v1l[0] =xm v1l[1] —ym v1l[2] —zm
gt3=|X3—Xo Y3~ Yo Z3—7Zo|=|vZ2][0] —xm Vv2][1] —ym —zm
X4 —Xo Ya—Yo Za—7Zp v2I[0] —=xm Vv2I[1]—ym v2][2] —zm

gt2 * v11[0] — gt3 * v1r[0] gt2 « v1l[1] — gt3 * vir[1] gt2 = v1l[2] — gt2 * v11[2]
,uu[l] = ,uu[2] =
gtl gtl gtl

uuf[0] =



3) X0=vm,X1=v1],X2=v1ID,X3=v2],X4=v2r O & &

gsl =

gs2 =

gs3 =

u[0]

gtl =

gt2 =

gt3 =

uu[0

X4 — X3
X1 — Xp
X2 — Xp

Ya—Y3
Y1—Yo
Y2—Yo

X4 — Xp
X1 — Xp
X2 — Xp

Y4 —Yo
Y1—Yo
Y2—=Yo

X3 — Xp
X1 — Xp
X2 — Xp

Y3 —=Yo
Y1—Yo
Y2—=Yo

_ gs2 = v2l[0] — gs3 = v2r[0]

Zy — 73

Z1 — Zg| =

Z3 —Zg

Zy — 729

Z1 — Zg| =

Zy —Zg

Z3 — 7o
Z1 —Zg| =
Z3 —Zg

gsl

X2 — X1
X3 — Xp
X4 —Xp

Y2—V1
Y3 —Yo
Y4 —Yo

Y2—=Yo
Y3 —Yo
Y4 —Yo

X2 —Xp
X3 — Xp
X4 —Xp

X1 — Xp
X3 — Xp
X4_X0

Y1—=Yo
Y3 —Yo
Y4 —Yo

Z =74

Z3 —Zo| =

Zy — 2

Z3 —Zp

Z3 —Zg| =

Zy — 279

21— Zg
Z3 —Zg| =
Z4_ZO

= gt2 + v11[0] — gt3 * v11{0]

gtl

,u[l]

v1l[0] — xm

v2r[0] — v21[0]
v1I[0] — xm
v1l[0] — xm

v1l[1] —ym

v2r[1] — v2I[1]
v1l[1] — ym
v1l[1l] —ym

v2r[0] —xm v2r[1] —ym v2r[2] —zm
v1l[0] =xm v1l[1]]—ym v1l[2] —zm

—Zm

v2][0] —xm Vv2][1]—ym v2l[2] —zm
v1l[0] = xm v1l[1]]—ym v1l[2] —zm
v1l[0] —xm v1l[1] —ym

_ gs2 = v2l[1] — gs3 = v2r[1]

—Zm

v2r[2] — v2l[2]
v1l[2] —zm
—zm

2] = gs2 * v21[2] — gs3 * v2r[2]

0
v2l[0] — xm
v2r[0] — xm

v1l[0] — xm
v21[0] — xm

,uull

v2r[0] — xm

v1l[0] —xm
v2I[0] —xm
v2r[0] — xm

gsl

0
v2]l[1] —ym
v2r[1l] —ym

v1l[1] — ym
v2l[1] —ym
v2r[1] —ym

v1l[1] — ym
v2]l[1] — ym
v2r[1] —ym

’

—vil[2]
v2][2] —zm
v2r[2] — zm

—zm
v21[2] —zm
v2r[2] —zm

v1l[2] — zm
v2][2] —zm
v2r[2] — zm

= gt2 « v1l[1] — gt3 = v1I[1]

gtl

,uu|

gsl

_ gt2«v1l[2]

gtl



